

			Vendor	Ranking			Page 1 of 1
Letting:	03211110	November 10, 2021 02:00 PM	Call Order	: 007	Contract:	E3V19	
District:	District 3		Counties:	DIST/ST-WIDE, WALTON	Fed Aid No:	: N/A	
Contract Time:	120 CALEN	DAR DAYS			Project(s):	42214327250 (*	*)
Contract Desc:	PONCE DE	LEON MAINTENANCE - SR 8	33 SHOULDE	R REWORK			

Rank	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	FAITH CONSTRUCTION GROUP, INC.	Responsive	Winning bid	\$547,500.00	100.00%
2	RYLES GRASSING, LLC	Responsive	Non-Winning Bid	\$660,600.00	120.66%
3	COLLINS LAND SERVICES, INC.	Responsive	Non-Winning Bid	\$699,000.00	127.67%
4	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$777,150.00	141.95%
5	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$1,010,483.10	184.56%
6	ONYX SITE SERVICES, LLC	Responsive	Non-Winning Bid	\$1,288,620.00	235.36%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

FDOT	

Page 1 of 5

District:	District 3		Counties:	DIST/ST-WIDE, WALTON	Fed Aid No:	N/A
Letting:	03211110	November 10, 2021	Call Order:	007	Contract:	E3V19

Contract Time: 120 CALENDAR DAYS

Project(s): 42214327250 (\*)

## Contract Descr: PONCE DE LEON MAINTENANCE - SR 83 SHOULDER REWORK

The Improvements under this Site-Specific Contract consist of reshaping ditches, reworking shoulders, and back slopes along State Road 83 (US 331) from South Bay Grove Road (Mile Post 4.954) (Section 60040000) to Sherwood Road (Mile Post 10.005) (Section 60050000) in Walton County. These ditches are non-typical and should be re-graded to +/- 3 inches of the original flow line to create a free and unobstructed flow of drainage water. For the purposes of this contract, the original flow line is considered to be the linear projection along the ditch bottom between the invert elevations of immediately adjacent drainage structures. Mobilization and Maintenance of Traffic shall be incidental to the bid items.

	No / Item ID	Alternate	e Quantity Units	(1) FAITH CON GROUF		(2) RYLES GR	ASSING, LLC		AND SERVICES, NC.
( ) in	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SODDING (SY						
0005	0104 10 3		1,000.000	5.00000	5,000.00	2.50000	2,500.00	2.00000	2,000.00
SEDIM	ENT BARRIER		LF						
0010	0120 2 2		60.000	70.00000	4,200.00	50.00000	3,000.00	40.00000	2,400.00
BORRO	DW EXCAVATI JRE	ON, TRUCK	CY						
0015	E120 10 2		26,000.000	3.40000	88,400.00	5.00000	130,000.00	2.35000	61,100.00
CLEAN	AND RESHAF	PE DITCH (HAI	UL) LF						
0020	E570 5		10.000	800.00000	8,000.00	900.00000	9,000.00	1,000.00000	10,000.00
FERTIL	IZER		TN						
0025	E570 9 1		300.000	250.00000	75,000.00	65.00000	19,500.00	150.00000	45,000.00
WATEF	R FOR GRASS	& PLANTS	MG						
0030	E573 1		12,000.000	4.00000	48,000.00	0.50000	6,000.00	1.75000	21,000.00
SLURR	Y INCLUDING	PPLICATION ( WOOD FIBER ACKIFIER & D	,						



Page 2 of 5

Letting:	03211110	November 10, 2	2021 <b>Ca</b> l	l Order: 007		Contract:	E3V19	
Line No / Ite Item Descri		ate Quantity Units	(1) FAITH CON GROUF		(2) RYLES GR	ASSING, LLC	· · /	AND SERVICES, NC.
() indicates in	em is bid as Lump Su	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(SODDING (SY						
0035 E575 SODDING	1	145,000.000 SY	1.50000	217,500.00	2.20000	319,000.00	2.50000	362,500.00
0040 E577 SHOULDER RI		156,000.000 SY	0.65000	101,400.00	1.10000	171,600.00	1.25000	195,000.00
00	01 SODDING (SY)	Section Totals:		\$547,500.00		\$660,600.00		\$699,000.00

Contract Grand Totals:	\$547,500.00	\$660,600.00	699,000.00
Contract Grand Totals:	\$347,500.00	\$060,600.00	699,000.00



Page 3 of 5

Letting:	0321	1110	November 10, 2	2021 <b>Ca</b> l	l Order: 007		Contract:	E3V19	
	lo / Item ID escription	Alternate	Quantity Units	(4) MIDW CONSTRUC		(5) ROGAR MAI CONSULTING	OF FLORIDA	(6) ONYX SITE	SERVICES, LLC
() indica	ates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	C Ext Amount	Unit Price	Ext Amount
	SECTION: 00	01	(SODDING (SY						
	0104 10  3 IT BARRIER		1,000.000 LF	2.50000	2,500.00	0.01000	10.00	3.50000	3,500.00
	0120 2 2 / EXCAVATION, E	TRUCK	60.000 CY	50.00000	3,000.00	101.00000	6,060.00	37.00000	2,220.00
	E120 10 2 ND RESHAPE D	DITCH (HAU	26,000.000 JL) LF	2.50000	65,000.00	11.21000	291,460.00	21.00000	546,000.00
0020 E FERTILIZE	E570 5 ER		10.000 TN	1,000.00000	10,000.00	0.01000	0.10	500.00000	5,000.00
	E570 9 1 OR GRASS & P	LANTS	300.000 MG	75.00000	22,500.00	0.01000	3.00	22.00000	6,600.00
HYDRO-S SLURRY I	E573 1 SEEDING - APPL INCLUDING WC RTILIZER, TAC	OD FIBER,		1.50000	18,000.00	1.68000	20,160.00	1.90000	22,800.00
0035 E SODDING	E575 1		145,000.000 SY	2.75000	398,750.00	3.39000	491,550.00	3.50000	507,500.00
	E577 70 ER REWORK		156,000.000 SY	1.65000	257,400.00	1.29000	201,240.00	1.25000	195,000.00

FDOT	
Y	

Page 4 of 5

Letting:	03211110	November 10,	2021 <b>C</b>	all Order: 007		Contract:	E3V19	
Line No / Iter Item Descrip		ate Quantity Units	· · · ·	WESTERN JCTION, INC	CONSULTING	•••••	(6) ONYX SIT	E SERVICES, LLC
•	n is bid as Lump Sur		Unit Price	Ext Amount	LL Unit Price	-C Ext Amount	Unit Price	Ext Amount
SECTI 000	ON: 0001 1 SODDING (SY)	(SODDING (SY Section Totals:	,	\$777,150.00		\$1,010,483.10		\$1,288,620.00
	Contract	Grand Totals:		\$777,150.00		\$1,010,483.10		1,288,620.00



			Tabulation of Bids			Page 5 of 5
Letting:	03211110	November 10, 2021	Call Order: 007	Contract:	E3V19	
		120.57(3), Flori	to file a protest within the time pres da Statutes, or failure to post the k within the time allowed for filing a	bond or other security		